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relabonship for the rale of change of prescure. For it
to be bue we require:

1) hre preseuvre in the bulb is uniform, i.e. . s
o funchon of t only. This regquires that the Llinear size of
e bulb is much sSmaller thon Co/ud and thal the fluid
€&n the bulb has negligible ineNa hich reguires That

He cross-ceebonal area ¢ Hwe bulb is much larger
Bran  that eof the neck.

2) the peviubalons need o sak 4 = C2 e . This i
earn re.qwiv\es that He durbaheons are Lvear and
icentropic, 2. that there is negligible heat transfer and
ivrepersible elects h’h?- f\n‘c KNomn.

3) ' (4) needs Jo ke He mase Jlow ouwt of the bulb

2s weld as the mass flow owh of the neck. This Yequireg

negligible mase $+Omge. in the neck, i.e. he neck is s hovt
compared with Cofe.
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Hence in D<cx<100m, the angle between a roy and The
x-axis increases ith dzrfh

in x>l00m, the angle behoeen the roy and the
x-oxis decreases with depha.
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